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SU 2: Capital Budgeting techniques
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SU 3: Risk and refinement in Capital budgeting
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SU 4: Calculating the cost of Capital
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SU 5: WACC, WMCC and Investment opportunity Schedule (IOS)
[image: ]
[image: ]


[image: ]
[image: ]




SU 6: Leverage
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Capital structure and firm value
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Dividend policy
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SU 10: Mergers & Acquisitions 
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Year 1 Year 2 Year 3 Year 4 Year 5*
1 R80 000 | R90 000 | R100 000 | R120 000 | R50 000
2 R80 000 | R96 000 | R156 000 | R176 000 | R50 000
3 R82 000 | R69 000 | R135000 | R 91 000 | R50 000
4 R85 000 | R34 000 | R 65000 | R 64 000 | R50 000

* Exdudes terminal cash flow of R10 000.

SA Printing Ltd expects that its new equipment can be sold for RS 000 at the
end of its five-year usable life and the firm will have to pay R1 750 in taxes.
Dismantling cost will amount to R1 000. The firm will be able to sell inventory
associated with the project for R3 000, factor accounts receivable and receive
net R8 750 and pay creditors of R4 000. The firm will not have to pay any tax on
the sale of the present equipment. The terminal cash inflow (excluding the final
year's operating cash flow of R50 000) is expected tobe .

1 R10 000
2 R20 000
3 R30 000
4 R40 000
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The correct answer is option 4. Capital budgeting is the process used to
evaluate and select long-term investments consistent with owner wealth
maximisation.

The correct answer is option 3. Buying stationery is an example of an operating
expense. All the other alternatives are examples of outlays of funds that are
expected to produce benefits over a period of time longer than one year.

The correct answer is option 2. The steps in the capital budgeting process are
proposal generation, review and analysis, decision-making, implementation, follow-
up.

The correct answer is option 2. In order to be correct, the statement should
have read:

“Mutually exclusive projects means that the acceptance of one project eliminates
the others from consideration”

The correct answer is option 1. Relevant cash flows are the incremental after-
tax cash outflow and the resulting cash inflows.
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6 The correct answer is option 3

Purchase price R300 000
+ Installation R10 000
- After-tax proceeds from sale of present
equipment R100 000
+ Change in net working capital R 70 000"
= Initial investment R280 000
Increase in accounts receivable R80 000
+ Increase in inventory R30 000
~ Increase in accounts payable R40 000
= Change in net working capital* R70 000
7 The correct option is
Year 1 Year 2 Year 3 Year 4 Year 5
Net profit (or R24000 R34 000 R44 000 R64 000 -R6 000
loss) after tax
+ Depreciation R56 000 R56 000 R56 000 R56 000 R56 000
= Operating R80 000 R90000 R100000 R120000 RS50 000

cash flow
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8 The correct option is 1

After-tax proceeds from the sale of new equip-
ment

~ Dismantling cost
+ Recovery of net working capital

Terminal cash flow

Inventory
+ Accounts receivable
~ Accounts payable
Net working capital*

R3 000
R8 750
R4 000

R7 750

R 3250

R 1000
*R7 750

R10 000
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1 SA Printing Ltd made an initial investment (Il) of R280 000 in printing
equipment. The investment is expected to generate the following cash inflows
(&3

Year 1 2 3 4 5
G R80 000 | R90 000 | R100 000 | R120 000 | R60 000

The firm requires that all investments must have a payback period of 4 years or
less. The payback period s and, based on the payback period,
the investment should be __

1 3years and 1 month be undertaken
2 3years and 6 months not be undertaken
3 4 years and 2 months be undertaken
4 4 years and 8 months not be undertaken

2 SA Printing Ltd has made an initial investment requiring R280 000. The firm's
cost of capital is 10%. The investment is expected to generate cash flows (Cp:

Year 1 2 3 4 5
G R80 000 | R90 000 | R100 000 | R120 000 | R60 000

The net present value of the investment s closest to _
should .

1 -R61 458 not be undertaken

___andthe investment
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2 + R61 458 be undertaken
3 - R341 458 not be undertaken
4+ R341 458 be undertaken
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3 SA Printing Ltd has made an initial investment requiring R280 000. The firm's
cost of capital is 10%. The investment is expected to generate cash flows (Cp:

Year 1 2 3 4 5
G R80 000 | R90 000 | R100 000 | R120 000 | R60 000

The IR of the project is closest to ___ and the investment should ____
1 10.18% not be undertaken

2 12.88% not be undertaken

3 18.22% be undertaken

4 22,18% be undertaken

4 SA Printing Ltd has made an initial investment requiring R280 000. The firm's
cost of capital is 10%. The investment is expected to generate to cash flows (Cr):

Year 1 2 3 4 5
[ R80 000 | R90 000 | R100000 | R120 000 | R60 000
The profitability index (Pl) is _____ and the investment should be ______

1 0291 be undertaken
2 0921 not be undertaken
3 1,000 not be undertaken
4 1,219 be undertaken

5 SA Printing Ltd has evaluated the vial
make the investment if

ity of an investment. The firm should

1 NPVis greater than zero

2 IRR exceeds the cost of capital (WACC)
3 Plis greater than one

4 all of the above
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6

Co
1
2
3
4

nflicting rankings using NPV and IRR resuit from differences in

discount rates
magnitude of cash flows
timing of cash flows

2 and 3 above
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7

Cor
of
1
2
3
4

nflicting rankings between investment alternatives may be solved by means
arbitration
NPV profiles
arbitrage
CAPM
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1 Option 1 s the correct answer. The payback period is 3 years and 1 month, and
the investment should be undertaken because the payback period is shorter than
the required payback period of 4 years.

Year Net cash inflow

1 R 80 000
2 R 90 000
3 R100 000

R270 000 + R10 000 from year 4 = R280 000 (Assuming a constant cash flow of
R10 000 per month during year 4).

2 Option 2 is the correct answer. The NPV is closest to R61 458 and the
investment should be undertaken because the NPV is greater than zero. The
investment will add value to the firm and therefore inarease the shareholders’
wealth.

Year  Netcash flow  PVIF PVof
10% net cash flow

1 R 80 000 0909 R 7272744

2 R 90 000 0826 R 74 380,50

3 R100 000 0751 R 75 131,99

4 R120 000 0683 R 8196236

5 R 60 000 0621 R 3725570
Total PV of C; R341 458,00
~ (nitial Investments)  R280 000,00
NPV =

(NPV = R61 455 using a financial calculator)
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3 The correct answer is option 3. The IRR is 18,22% and the investment should
be undertaken because the IRR exceeds the cost of capital of 10%. The investment
will add value to the firm and therefore increase the shareholders’ wealth.

Year  Netcash flow  PVIF PVof
18,221455% net cash flow
1 R 80 000 0845870 R 67 669,60
2 R 90 000 0715496 R 64 394,67
3 R100 000 0605217 R 60 521,70
4 R120 000 0511935 R 6143220
5 R 60 000 0433031 R 25981.83
Total PV of C; R280 000,00
~ (initial Investment) ~ R280 000,00
NPV = R 000
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4 The correct answer is option 4. The profitability index (PI) is 1,219 and the
investment should be undertaken. For every one rand invested, the investment will
return R1 219. The investment will add value to the firm and therefore increase the
shareholders’ wealth.

_ Total PV of cash inflows
initial investment

Pl

5 The correct answer is option 4. The firm should make the investment if the
NPV is greater than zero, IRR exceeds the cost of capital (WACC) and Pl is greater
than one. An investment that satisfies these criteria will add value to the i and
therefore increase the shareholders’ wealth.

6 The correct answer is option 4. Conflicting rankings using NPV and IRR result
from differences in the magnitude and timing of cash flows.

7 The correct answer is option 2. Conflicting rankings between investment
alternatives may be solved by means of NPV profiles.
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1 Risk in capital budgeting should, in theory, be incorporated by means of ____

1 standard deviations ()

2 certainty equivalents (CEs)

3 capital asset pricing models (CAPM)
4 risk-adjusted discount rates (RADR)

2 A project is expected to generate the following cash inflows with associated
certainty equivalents (CEs):

Year Net cash inflow CE
1 R15 000 .90
2 R25 000 .80
3 R35 000 .70
4 R45 000 .60
5 R38 000 .50

The risk-free rate of return is 12%. The initial investment is R60 000. Using
certainty equivalents, the NPV is closest to _
R13 376,16
R28 692.25
R44 000,00
R48 406,00

ENETINIEN

3 The risk-free rate of return is 10%. A project has a risk-adjusted discount rate of
15%. It has an initial investment of R120 000 and is expected to generate net
cash inflows of R45 000 per annum for five successive years. The NPV using a
RADR is closest to_____

R18 805

R30 840

RS0 585

R105 000

ENETINIEN
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4 An enterprise has R1 000 000 available for capital projects, a cost of capital of
15% and is considering the following:

Project Initial investment IRR NPV

A R500 000 22% R300 000
B R200 000 18% R200 000
C R300 000 16% R150 000
D R290 000 16% R180 000
E R300 000 10% R 50 000
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“The firm should combine the following projects:

A,Band C
A,Band D
A, Band E
B.Cand D

A wN -

5 The most efficient technique for the comparison of mutually exclusive
investments with unequal lives is to _

consider only cash flows during the payback period
simply compare the NPV figures

use the annualised net present value (ANPV) approach
use risk-adjusted discount rates (RADR)

ENEIINIEN

6 An enterprise is considering two mutually exclusive projects. Project M has a life
of four years and an NPV of R2 855 000. Project N has alife of six years and an
NPV of R4 540 800. The enterprise has a cost of capital of 15%. Determine the
ANPV of each project and recommend the project that the enterprise should
invest in.
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1 The correct answer is option 2. Risk in capital budgeting can best be
incorporated by means of certainty equivalents (CEs).

2 The correct answer is option 1.

Year | Net cash flow| CE Certain CF PVIF 25 |PV of net
cash flow

1 |Ri5000 [os0 [13500 0893 |R1205357

2 |Re5000 [080 [20000 0797 _|Ri15 94388

3 [R35000 [070 [24500 0712_|R17 43862

4 |Ra5000 [060 [27.000 0636 |R17 15899

5 |R3goo0  [o50 [19.000 0567 |R10 781,11
Total PV of G R73 376,16

Initial investment R60 000,00

NPV [R13376,16

(NPV = R30 846,98 using a financial calculator)
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3 The correct answer is option 3.

Year  Netcashflow  RADR PV of net cash flow
15%

1 R4500000 0870 R 39,150.00

2 R4500000 0756 R 34,020.00

3 R4500000 0658 R 29,610.00

4 R4500000 0572 R 25740.00

5 R4500000 0497 R 22,365.00
Total PV of CF R150,885,00

Less (Initial Investment) R120,000.00
NPV R 3000000




image23.png
4 The correct answer is option 2. Projects A, B and D together require an
investment of R990 000 which does not exceed the R1 000 000 that is available.
These projects have IRRs that exceed the cost of capital of 15% and all of them
have NPVs greater than zero. Shareholder's wealth will be maximised by combining
these three projects given the constraint.

Project Initial investment  IRR NPV

A R500 000.00 22% R300 000.00
B R200 000.00 18% R200 000.00
D R290 000.00 16% R180 000.00

Total Investment ~ R290 000.00

5 The correct answer is option 3. The most efficient technique for the
comparison of mutually exclusive investments with unequal lives is to use the
annualised net present value (ANPV) approach.
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6 Using the ANPV approach will result in the following ANPV figures:
NPVy _ R23855000

ANPVo = pytRes = —asm = RL000000
NPV, RA 540 800
ANPV, = ——" = 200 _ pyago 00
PVIFs56 3,784

Based on the above ANPVS, the enterprise should invest in project N. Project N will
add more value to the enterprise than project M will.
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1

Use the following information to calculate the after-tax cost of a 20-year, 11%
debenture:

~ Appropriate tax rate is 35%

- R1 000 par value

~ Currently selling for R940

1 600%
2 767%
3 11,00%
4 1179%

A firm is considering issuing 15% preference shares which are expected to sell
for R11 per share (par value). The flotation cost is expected to be R1 per share.
The cost of a preference share is:

150%
16,5%
17.5%
18.0%

A wN -

The ordinary shares of Gauteng Stokvel Syndicates are trading at RS0 per share
on the JSE. The firm declared a dividend (Do) of RS per share. The annual growth
rate of dividends over the past six years was 10%. Management is of the opinion
that this growth rate will be maintained in future. The firm's cost of ordinary
shares is:

11.0%
21.0%

225%
235%

A wN -
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4 An investment analyst of Sinkwa Sokuphila Inc. provided the following
information:

Estimated beta coefficient = 1.1
Expected return on the market = 16%
Risk-free interest rate = 6%

Expected dividend growth rate = 10%
Current dividend (Do) = R3.20 per share

Which one of the following is the correct market price of an ordinary Sinkwa
Sokhuphila share?

R32,12
R3520
R45,71
R50.28

ENEIINIEN

5 Aninvestment analyst has the following information in respect of Rovhuwa Ltd.
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The company’s market risk coefficient is 0.9; the rate of return on the JSE all
share index was 21.25% over the previous five years, and the rate of return on
short-term government debentures is currently 16.75%. Rovhuwa has
maintained a growth rate of 13% in their EPS over the previous three years.
Calaulate Rovhuwa required rate of return.

1 2080%

2 2160%
3 2240%
4 2350%
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1 Using a financial calculator HP 10bll:

110
(R1000 x 11%)

And press |
Answer =0,1179 or 11,79%

After-tax cost = 0,1179 x (1 - 0,35) = 7,67%.

The correct answer is option 2.

3

2 The equation r, = % is used to calculate the cost of a preference share.
A

Remember that the flotation cost must first be subtracted from the selling price in
order to get N,.
1,65

%= g = 16,5%

The correct option is 2.
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3 The cost of ordinary shares is calculated by using the Gordon model.

Dox(ltg

o= P,

5% (1.+0,10)
50 to

55
~ 50

+ 10% = 21%

The correct answer is option 2.

4 The market price s calculated by first using the capital asset pricing model to
calailate the required rute of retum, and then using the Gordon model to
determine the market price of the ordinary shares.

=6+ 1,1(16 - 6)
ro= 6+ 1,1(10)

=6+ 11=17%

py = D1

r-g
b _ 320 x (1.10) _ 3.
T 710 7
= R50,28

The correct answer is option 4.
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5 The required rate of return is calculated by using the capital asset pricing model.
Kp =rr + B(tm — 17)
= 1675 +09 (21.25- 1675)
= 1675 +09 (45)
= 1675 +405
= 20,80%

The correct answer is option 1.
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1 TWT Ltd has determined its optimal capital structure, which comprises the

following:

Form of capital Weight After-tax cost
Long-term debt 40% 6%
Preference shares 10% 1%
Ordinary shares 50% 15%

The weighted average cost of capital is

10%
1%
15%
20%

ENETINIEN
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2 Afrox Ltd has to make an unavoidable capital investment of R1 000 000 this
year. The firm’s dividend policy requires that it should pay 55% of its earnings
attributable to ordinary shareholders (earnings are R800 000 this year) in the
form of dividends. If Afrox maintains an optimal debt ratio of 40%, which one of
the following shows the correct weight of each form of financing in the
calculation of the WACC?

40% debt, 36% retained earnings, 24% new ordinary shares
40% debt, 60% retained earnings

60% debt, 32% retained earnings, 8% new ordinary shares
40% debt, 30% retained earnings, 30% new ordinary shares

ENETINIEN

3 Safron Ltd is financed 60% by equity and 40% by debt. The firm expects that it
will exhaust retained earnings of R300 000 (r, = 14%) and will have to issue
additional new ordinary shares (r,, = 16%) to meet its financing needs. The firm
will be able to raise R150 000 by means of debt financing (rs = 7.8%): additional
debt can be obtained at ra = 8.45%. The breaking points (BP) are:

BPequity BPuest
1R300 000 R200 000
2 R400 000 R325 000
3 R500 000 R375 000
4 R600 000 R425 000

4 The interpretation of the weighted marginal cost of capital (WMCC) schedule
and investment opportunity schedule (I0S) may be done as follows:

1 Accept all projects indicated by the I0S that are below the WMCC

2 Accept only the project indicated at the crossover point of the WMCC and
the 105

3 Accept only those projects indicated on the IOS up to the point where the
firm's financing is exhausted

4 Accept only those projects indicated on the [0S above the WMCC up to the
point where the WMCC and I0S cross each other.
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1

The correct answer is option 2.

Form of Capital Weight After Tax Cost | Weighted Cost
Long-term debt 0,40 6% 240%
Pref-shares 0,10 1% 1.10%
Ordinary shares 0,50 15% 7.50%

11,00%
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2 The correct answer is option 1.

40% debt financing (given)

Retained earnings = R800 000 x (1 - 0,55)
R800 000 x (0.45)

= R360 000

Weight of retained earnings = R360 000 x R1 000 000 = 0,36 or 36%
Balance of financing = 100% - 40% - 36%
= 24% from new ordinary shares

3 The correct answer is option 3.

BPrauiy BPas

R500000  R375 000

For equity (retained earnings) R300 000 = 0,6 = R500 000
For debt R150 000 + 0.4 = R375 000

4 The correct answer is option 4.

Accept only those projects indicated on the 10S above the WMCC up to the point
where the WMCC and IOS cross each other.
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1

Which of the following statements are correct?

(a) Leverage in a firm results from the use of fixed cost assets or funds to
magnify the returns to the firm's owners

(b) The more leverage a firm uses, the lower the risk of insolvency

(c) The operating break-even point is that point where EBIT = total operating
expenses

(d) Financial leverage uses fixed financing costs to maximise the firm's earnings
per share (EPS)

1 a&b
2 a&d
3 b&c
4 c&d

Afirm has fixed operating costs of R4 500, the sales price per unit is R12, and its
total variable cost is R7 000. The firm expects to sell 1 000 units. The break-
even point is _____ units.
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Nando's Ltd is able to increase earnings before interest and taxes (EBIT) by 80%
if sales can increase by 50%. The degree of leverage is _____ .

0,625 and operating leverage exists
1 600 and operating leverage does not exist
0,625 and operating leverage does not exist
1 600 and operating leverage exists

ENETINIEN

Nando’s Ltd has an EBIT of R200 000, an interest expense of R50 000, a
preference share dividend of R4 000 and a tax rate of 40%. The firm's degree of

financial leverage (DFL) at the EBIT level of R200 000 is______ .
1125

2 140
3 150
4 165

Based on your answers to questions 3 and 4 above, Nando's Ltd has a degree of
total leverage (DTL) of ____

1078
2 109
3 224
4 240
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The correct answer is option 2.

Leverage in a fim results from the use of fixed cost assets or funds to magnify the
retums to the firm's owners. Financial leverage uses fixed financing costs to
maximise the firm’s earnings per share (EPS).

The correct answer is option 3.

Operating break-even point = Total fixed cost + (Price per unit - variable cost per
unit)

= R4 500 + (R12-R7) = R4 502 + R5 = 900 units

The correct answer is option 4.
80% + 50% = 16 and operating leverage exists.
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4 The correct answer is option 2.

% change in EPS EBIT

DFL ot EBIT of XRands = 57 change in EBIT ~ EBIT — 1~ (%)

R200 000
DFL = = 139~ 140
200000 = R200 000 — R50 000 — R4 000 = (1 - 0,4)

5 The correct answer is option 3.

DTL=DFL x DOL = 1,6 x 1,4 =224
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EXAMPLE OF CAPITAL STRUCTURE DECISION

Dickson Limited, with total fixed operating costs of R100 000 per annum and total
variable costs of 40% of sales, expects sales to amount to R300 000 in the next
financial year. Dickson Limited must decide on an appropriate capital structure. The
following proposals are being considered:

Plan A involves the use of 25 000 ordinary shares that have a book value of R10 per
share. Plans B, C and D introduce debt into the capital structure without altering the
total amount of financing required.

The anticipated debt ratios and required interest rate on outstanding debt are given in
the following table:

Debt Ratio Interest rate on all debt
20% 10%
40% 12%
60% 14%

The market place has assigned the following discount rates to risky earnings per share:

Coefficient of variation | Estimated required rate
of EPS of return (k,) (%)
043 15%
047 16%
051 17%
056 18%

The tax rate is 40%.
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REQUIRED

(1) Calculate the earnings per share (EPS) for the proposed capital structures.

(2) Calculate the expected share price for each of the debt ratios using the eamings
per share in (1) above and the following additional information:
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Debt ratio Standard deviation of EPS (¢cEPS)
0% 09107
20% 1.1384
40% 15179
60% 22768

(3)  Graph your findings in (1) and (2) above.

(4)  Which capital structure would you recommend if the objective were to maximise
earnings per share (EPS)? Why?

(5)  Which capital structure would you recommend if the objective were to maximise
the value of the enterprise to its owners and why?
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SOLUTIONS

Question 1
Debt ratio 0% 20% 40% 60%
Own capital R250,000 R200,000 R150,000 R100,00
Debt - R50,000 R100,000 R150,000
Numberof shares R25,000 R20,000 R15,000 R10,000
Sales R300,000 R300,000 R300,000 R300,000
Variable costs R120,000 R120,000 R120,000 R120,000
Fixed costs R100,000 R100,000 R100,000 R100,000
EBIT R80,000 R80,000 R80,000 R80,000
Less interest - R5,000 R12,000 R21,000
EAIBT R80,000 R75,000 - -
Tax (40%) R32,000 R30,000 R27,200 R23,600
EAIT R48,000 R45,000 R40,800 R35,400
Question 2
Debt Required rate | Share price
B i R Z'QE:';' R'000 :,’rmm Po=E(EPS)/k,
0% 192 09107 | 04743 | 25000 0 0.16 12,00
20% 225 11384 | 05060 | 20000 50 017 1324
40% 272 15179 | 05581 15 000 100 0.18 15.11
60% 354 | 22768 06432 | 10000 100 024 1475
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Question 3

f Maximum BPSR ~ 3.54
4 |
|
g7 !
i |
2 |
|
\ I
I
I
. - o
2 W 3
Debt Ratio
Question 4

The capital structure with a 60% debt ratio will be chosen in order to maximise EPS.
This is a short-term profit maximisation approach ignoring risk.

Question 5

The capital structure with a 40% debt ratio will be chosen in order to maximise the
value of the firm to its owners. This is a long-term trade-off of risk and return.
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1

Which one of the following is incorrect? Capital structure decisions of the firm
are important because they have an impact on the ______ of the firm.

1 ordinary share prices

2 cost of capital

3 EBIT

4 EPS

Harmony Ltd has an expected earnings per share, E(EPS) of R1.25 and a
standard deviation () of earnings per share of R1,50. The firm has made the
following risk-return estimates:

Coefficient of
variation K,

083 14%
1,20 18%
1.88 22%

Assuming that all earnings will be paid out as dividends, the expected share price
(Po)is .

1 R568

2 R694
3 R893
4 R1042

PWC Ltd has achieved an EBIT of R21 844 300. The firm's required rate of
return (ks) is 20% and the firm is subject to a 35% tax rate. The firm's value is

estimated to be closestto _____
1 R 63770 000
2 R70993 975
3 R109 221 500
4 R168 033077
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4 ABILLtds capital structure currently consists of a long-term loan of R750 000 at
aninterest cost of 16% per year, 20 000 preference shares with a dividend of R4
per share, and 300 000 ordinary shares on which a dividend of 50c per share
was paid during the year. If the company’s effective tax rate is 40%, calculate the
company's financial break-even point.

1 R152133
2 R184 500
3 R253333
4 R302 168

5 Which one of the following capital structures would maximise the firm's value?
Debt ratio WACC

1 20% 12,0%
2 30% 11,5%
3 40% 11,0%
4 50% 11.8%

6 The most important consideration in deciding on a capital structure is the cost of
capital. Other considerations include __

1 control, flexibility and timing
economic and industry conditions

2
3 the impact on financial ratios
4 all of the above
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1 Capital budgeting is the process used to_

1
2

3

Evaluate the profitability, liquidity and solvency of the firm.

Determine the minimum rate of return a firm must earn in order to
maintain its market value.

Determine if cash inflow will exceed cash outflow over the next three
months.

Evaluate and select long-term investments consistent with owner wealth
maximisation.
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The correct answer is option 3. Copital structure decisions of the firm are
important because they have an impact on the earnings per share, cost of capital
and ordinary share price of the firm.

The correct answer is option 2. Coefficient of variation = & = E(eps) = R1,50
~+ R1.25 = R1,20; Therefore, discount rate (k,) = 18% or 0,18

P, = E(eps) + k, =R1.25 = 0,18 =R694

The correct answer is option 2.
Value = (EBITx (1 - 1) + k

= (R21 844 300 x (1 - 0.35)) =~ 020
= (R21 844 300 x 0.65) =+ 020

= R14 198795 = 020

= R70 993 975

The correct answer is option 3.
Interest = 0,16 x R750 000 = R120 000

Preference share dividends = 20 000 shares x R4 = R80 000
Financial break-even point = Interest + (preference share dividends

(1-1
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= R120 000 + {R80 000 -+ 0,6} = R120 000 + R133 333
=R253 333

The correct answer is option 3.

The firm’s value is maximised if the cost of capital is kept as low as p le. In this
case the lowest cost of capital is 11% achieved with a debt ratio of 40%.

The correct answer is option 4. Capital structure has to take cognisance of all
the considerations.




image48.png
1 According to the residual theory of dividends, if the firm’s equity need exceeds
the amount of retained earnings, the firm would___

borrow to pay the cash dividend
sell additional stock to pay the cash dividend
pay no cash dividends

not need to consider its dividend policy

AwN -

2 The dientele effect refersto_____

1 the relevance of dividend policy for share value

2 the firm's ability to attract shareholders whose dividend preferences are
similar to the firm's dividend policy

3 the informational content of dividends
4 the “bird-in-the-hand” argument

3 Modigliani and Miller, recognising that dividends do somehow affect share
prices, suggest that positive effects of dividend increases are attributable

1 directly to the dividend policy

2 directly to the optimal capital structure

3 not to the informational content but to consistency in the payment of
dividends

4 not to the dividend itself but to the informational content of the dividends
with respect to future earnings

4 Gordon's “bird-in-the-hand” argument suggests that
1 dividends are irrelevant

2 firms should have a 100% payout policy

3 shareholders are generally risk averse and attach less risk to current
dividends
4 the market value of the firm is unaffected by dividend policy
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5

6

Afirm has an optimal capital structure of 40% debt and 60% equity. The 2002
investment opportunity schedule totals R4 200 000. If the 2001 retained
earnings are R3 million and the firm follows the residual theory of dividends, it
would pay ____ in dividends.

RO

R 480 000

R1 320 000

R1 800 000

ENWIINEEN

The dividend policy must be formulated considering two basic objectives,
namely

1 delaying the tax liability of the shareholder and information content
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2 maximising shareholder wealth and delaying the tax liability of the
shareholder

3 maximising shareholder wealth and providing for sufficient financing
4 maintaining liquidity and minimising the weighted average cost of capital

7 The purpose of a share split is to

1 affect the firm’s capital structure

2 decrease the dividend

3 enhance the trading activity of the share by lowering the market price
4 increase the market price of the share

8 The repurchase of shares ____ the earnings per share and ____ the market
price of shares.
1 increases; increases
2 decreases; decreases
3 increases; decreases
4 decreases; increases
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The correct answer is option 3. With the residual theory approach, no cash
dividend s paid as long as the firm’s equity need is in excess of the amount of
retained eamings.

The correct answer is option 2. Modigliani and Miller argue that a dlientele
effect exists that causes the firm's shareholders to receive the dividends they expect.

The correct answer is option 4. According to Modigliani and Miller, if dividends
do dffect value they do so solely because of their informational content, which
signals management’s earnings expectations.

The correct answer is option 3. Current dividend payments are believed to
reduce investor uncertainty, causing investors to discount the firm's earnings at a
lower rate.

The correct answer is option 2. Investment opportunities = R4 200 000 of
which 60% will be funded from equity, this means R2 520 000 from equity
Retained earnings = R3 000 000, of which R2 520 000 will go to funding the
investment opportunities. This leaves R480 000 earnings for dividends.

The correct answer is option 3. Dividend policy needs to consider owner wealth
maximisation as well as financial requirements of the firm.

The correct answer is option 3. A share split increases the number of shares
belonging to each shareholder, thereby lowering the share price in order to
enhance trading activity:

The correct answer is option 1. Share repurchases enhance shareholder value
by reducing the number of shares issued and send a positive signal to investors that
management believes the shares are undervalued.
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Mzansi Oil is being considered for acquisition by Ekasi Oil. The combination, Ekasi
believes, would increase its cash inflows by R25 000 for each of the next five years
and by RS0 000 for each of the following five years. Mzansi has high financial
leverage, and Ekasi can expect its cost of capital to increase from 12% to 15% if the
merger is undertaken. The cash price of Benson is R125 000.

1 Would you recommend the merger?

2 Would you recommend the merger if Dodd could use the R125 000 to
purchase equipment returning cash inflows of R40 000 per year for each of the
next 10 years?

3 Ifthe cost of capital does not change with the merger, would your decision in (2)
be different? Explain.
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Cash acquisition decision
1 PV of cash inflows

Year  Cashflowx  PVIF factor PV Calculator
(15%) solution
1-5 R25000 x 3352 R 83 000 R 83 804
6-10  R50000 x (5019-3352)  R83350 R 83331
Total PV value of cash inflows R167 150 R167 135
Less cost of acquisition R125 000 R125 000
R42150  R42135

Since the NPV is positive, acquisition is recommended. Of course, the effects of a
rise in the overal cost of capital would need to be andlysed.

2 PV of equipment purchase (12%, 10yrs): PV = R40 000 x 5,650 = R226 000

Calculator solution: R226 009
NPV = R226 000 - R125 000 = R101 000

The purchase of equipment results in a higher NPV (R101 000 versus R42 150).
This is partially due to the lower discount factor (12% versus 15%). The equipment

purchase is recommended.

3 PV of cash inflows

Year  Cashflowx  PVIFA factor PV Calculator
(12%) solution
1-5 R25000 x 3605 R 90 000 R90 119
6-10  R50000 x (5650-3605)  R102250 R102 272
Total PV value of cash inflows R192375 R192 392
Less cost of acquisition R125 000 R125 000
R67325  R67392

No, the recommendation would not change. The NPV of the equipment purchase
(R101 000) remains greater than the NPV of the acquisition (R67 375).
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2 Which one of the following is not an example of capital expenditure motive?
1 First National Bank is evaluating the start-up of a new branch.
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2 SAAs considering the replacement of three Boeing 747s.
3 Boston College has to buy stationery for one of their lecturers.
4 KPMG is considering upgrading its 184 personal computers.
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3

4

5

The steps in the capital budgeting process are _____.
1 proposal generation, decision-making, implementation, review and analysis,
follow-up

2 proposal generation, review and analysis, decision-making, implementation,
follow-up

3 proposal generation, decision-making, implementation, follow-up
4 proposal generation, review and analysis, decision-making, implementation

Each of the following statements is correct except
1 Anannuity is a stream of each annual cash flow.

2 “Independent projects” means that the acceptance of one project eliminates
the others from consideration.

3 Capital rationing means the firm only has a limited amount of financing
available for capital expenditure.

4 A conventional cash flow pattern is one which involves an initial investment,
followed by a series of inflows.

Relevant cash flows are the
1 incremental after-tax cash outflow and the resulting cash inflows
2 operating cash inflows

3 terminal cash flows
4

sunk costs




image5.png
6 SA Printing Ltd faces a replacement decision and intends purchasing new
printing equipment at R300 000. The cost of installation is expected to amount
to R10 000. The proceeds from the sale of the present equipment are expected
to amount to R135 000 and the tax on the sale of the present equipment will be
R35 000. The investment requires an increase of R30 000 in inventory, R80 000
in accounts receivable and R40 000 in accounts payable. The initial investment
equals .

1 R210 000
2 R250 000
3 R280 000
4 R360 000

7 SAPrinting Ltd expects that its new printing facilities will generate the following
additional net profit (or loss) after taxes:

Year 1 Year 2 Year 3 Year 4 Year 5

Net profit (or | R24 000 | R34 000 | R44 000 | R64 000 | -R6 000
loss) after taxes

The equipment can be purchased at R280 000 and depreciated on a straight-
line basis over a five-year period. The firm is subject to a 35% tax rate. The firm's
operating cash inflows equal ...




